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1. Based on the periodic trends for ionization energy,
which element has the highest ionization energy?

A) Nitrogen

B) Fluorine

C) Helium

D) Bromine

2. Which substance is present in green leaves to help in
the process of photosynthesis?

A) The sunlight
B) Choloroform
C) Stomata

D) Chlorophyll

3. Why is red colour preferred for danger signal lights?

A) Because red colour is bright to eyes

B) Because red colour light has shorter wavelength

C) Because red colour light has longest wavelength and least scattered by fog and smoke
D) Because red colour is preferred by many
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4. Convert into vulgar fraction: 4.12

A) 371/900
B) 299/121
C) 371/90
D) 407/99

5. Find the ODD one out from the given options.

A) 88
B) 62
C) 55
D) 33

6. If the numbers 1 and 2 are interchanged, 3 and 4
change places and also the symbols x and +, then find
the valueof 1+ 3x 2 + 4.

A) 14
B) 3
C) 12
D)3/2

7. How does a bulb glow when the switch is turned on?

A) The filaments touch each other
B) Current does not flow through circuit
C) The filaments expand

D) The filaments get heated up due to current and lights up

8. Complete the series.

4,196, 16, 144, 36, 100, 64, (...)
A) 100

B) 80

C) 64

D) 36

9. Curved surface area of a cylinder is 440 cm2. The
base circumference is 44 cm. What is its volume?
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A) 710 cm3

B) 1540 cm3
C) 3050 cm3
D) 1240 cm3

10. How many square are there in the given figure?

A) 9
B) 8
C) 15
D) 6

11. 'Nilgiri Hills' are known as the

A) Roof of the World
B) Blue Mountains
C) King of hills

D) Tea Treasures

12. The deficiency of causes scurvy.

A) Vitamin A
B) Vitamin D
C) Vitamin K
D) Vitamin C

13. Choose the alternative that best replaces the
guestion mark (?) in the given figure.

DONNLOAD FROM https://rrbexamportal . com COURTESY : RRB


https://rrbexamportal.com/
https://rrbexamportal.com/

DONMLOAD FROM https://rrbexanportal .conf

A) 6
B) 9
C) 14
D) 18

14. Who among the following did NOT belong to the
Slave Dynasty?

A) Balban

B) Hammir
C) lltutmish
D) Kaiquabad

15. What is the chemical name of quick lime?

A) Calcium oxide
B) Hydrogen sulphide
C) Sodium carbonate

D) Calcium carbonate

16. What are antibiotics?

A) Special medicines used during surgical operations
B) Sleeping pills
C) Anaesthetic substances

D) Drugs prepared from moulds and mould like organisms
17.1f 5x2 - 13xy + 6y2 =0, find x : .

A)(3:5)or(2:1)
B) (3:5) only
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C)(2:1)only
D)(5:3)or(1:2)

18. In this question, two statements are given and a
conclusion is drawn. Find out which of the alternatives
justifies the given conclusion.

Statements:
1) All teachers are learned.

2) Learned people are always gentle.

Conclusion:

All teachers are gentle persons.

A) The conclusion drawn is probably true
B) The conclusion drawn is definitely true
C) The conclusion drawn is false

D) The conclusion drawn is irrelevant

19. If in a certain language 'CURTAIN' is coded as
'CAITURN', how is 'HILLOCK' coded in that language?

A) HKLIOC

B) HOLLICK
C) HCOLLIK
D) HOCLILK

20. A watch is sold at a profit of 20%. If both the cost
price and selling price are reduced by Rs.100, then the
profit would be 5% more. Find the original cost price of
the watch.

A) Rs.600
B) Rs.450
C) Rs.550
D) Rs.500
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21. Which device uses ultrasonic waves for getting
images of internal organs of human body?

A) CT scanner

B) MRI scanner

C) X-ray machine

D) Ultrasound scanner

22. Complete the series.
186, 183, 177, 159, (...)
A) 81

B) 87

C) 96

D) 93

23. What is the maturity value of Rs.25000 at the end of
2 years at 9.25% Simple Interest?

A) Rs.29250
B) Rs.28000
C) Rs.30225
D) Rs.29625

24. Whooping cough is also called as-

A) Mumps
B) Rubella
C) Pertussis
D) Variola

25. Difference of ages of father and son is 24 years. Two
years back age of father was twice the son's present
age. What is father's age now?

A) 38
B) 46
C) 44
D) 42
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26. P is 25% less efficient than Q. In what ratio should
their wages be shared?

A)3:4

B)4:3

C)3:5

D)3:2

27. Complete the series.
2,4,11,37,153, (...)

A) 732

B) 771

C) 721

D) 753

28. Five times a positive integer is 3 less than twice its
square. Find the integer.

A) 5

B) 3

C)8

D) 2

29. Which word will best complete the relationship
given below?

Cricket : Bails :: Billiards : ?
A) Racket

B) Bat

C) Cue

D) Cork

30. What is the LCM of 2/3, 4/6, 8/277

A) 2/3
B) 2/27
C) 8/3
D) 8/27
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31. Which of the following organizations launched a
special programme called 'Young Scientist
Programme?’

A) ISRO
B) NASA
C) BARC
D) DRDO

32.1fx=rsin AcosB,y=rsin Asin B and z=r cos A,
then find x2 + y2 + z2,

A) r2

B) 3/2 r2

C) r2(cos?2 B + cos? A)
D) 2r2

33. In this question, a statement is given followed by
two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statement:

Domestic demand has been increasing faster than the production of indigenous crude oil.
Conclusions:

I. Crude oil must be imported if the demand has to be met.

II. Domestic demand should be reduced.

A) Only conclusion | follows

B) Either conclusion | or Il follows

C) Both conclusions | and Il follow

D) Only conclusion Il follows

34. According to Rutherford atomic model, the
electrons revolve around the nucleus in
paths.

A) Circular

B) Linear
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C) Radial
D) Elliptical

35. Which of the following is polyatomic?

A) Hydrogen
B) Sulphur
C) Nitrogen
D) Chlorine

36. Find the ODD one out from the given options.

A) Hour - Minute

B) Sentence - Word
C) Tree - Forest

D) Class - Student

37. Which of the following countries has awarded
Narendra Modi with the "Order of St Andrew the
Apostle?"

A) ltaly

B) France
C) Russia
D) England

38. The profit earned in selling an article for Rs.2540 is
equal to the loss incurred in selling at Rs.1850. What is
the cost price?

A) Rs.2020
B) Rs.2195
C) Rs.2095
D) Rs.2010

39. Two trains are moving in opposite directions at 60
km/hr and 90 km/hr. Their lengths are 1.10 km and 0.9
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km respectively. What is the time taken by the slower
train to cross the faster train in seconds?

A) 49 seconds
B) 48 seconds
C) 45 seconds
D) 36 seconds

40. 0.0056 is equal to which of the following fractions?

A) 7/1250
B) 4/625

C) 7/11175
D) 7/1275

41. What is the Sl unit of G—the universal gravitation
constant?

A) N m2 Kg-2
B) N kg-2 / mz2
C)NKkg/m
D)N/m

42. A concave lens has a focal length 15 cm. If the
object is placed at 30 cm from the lens, what is the
image distance?

A) -18 cm
B) -10 cm
C)-15cm
D) -20 cm

43. Average age of 3 children born at intervals of 2
years is 8. How old is the eldest child?

A) 12 years
B) 7 years
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C) 8 years
D) 10 years

44. In a certain code language, 'tim pac' means 'red
colour', 'pit it tim' means 'red and black' and 'nac pit'
means 'yellow black'. Which word in that language
means '‘and'?

A) pit

B) nac
C) tim
D) it

45. In this question, three statements are given followed
by two conclusions. Choose the conclusion(s) which
best fit(s) logically.

Statements:

1) Some newspapers are magazines.
2) All newspapers are books.

3) Some books are journals.
Conclusions:

I. Some journals are newspapers.

II. All magazines are books.

A) Both conclusions | and Il follow

B) Neither conclusion | nor Il follows
C) Only conclusion I1 follows

D) Only conclusion | follows

46. When was the National Development Council of
India setup?

A) 1965
B) 1952
C) 1940
D) 1957
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47. \Who is the first woman Chief Minister of India?

A) Janaki Ramachandran
B) Nandini Satpathy

C) Sucheta Kriplani

D) J. Jayalalitha

48. If 40% of 70 is X% more than 30% of 80, then find 'X".

A) 14.28%
B) 16.67%
C) 40%

D) 33.33%

49. Which of these is NOT a dairy product?

A) Paneer
B) Gur

C) Malai
D) Khoya

50. has the maximum attraction force
between the molecules.

A) Solid

B) Gas

C) Both liquid and gas
D) Liquid

51. Complete the series.
QY,JT, EO, BJ, (...)

A) AO

B) LP

C) SX

D) AE

52. Which of these is NOT aterm used in tennis?
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A) Deuce

B) Volley

C) Second Serve

D) Slam Dunk

53. Simplify : Cot (90° - e) Sin (180°-6) Sec (360°-0) / tan
(180°-6) sec (-0) cos (90° +e)

A) 1

B) -1

C)2

D) -2

54. Which antibiotic was discovered by Alexander
Fleming in 19287

A) Streptomycin
B) Erithromycin
C) Penicillin

D) Azithromycin

55. A boat moving upstream takes 8 hours 48 minutes
to cover a distance while it takes 4 hours to return to
the starting point, downstream. What is the ratio of the
speed of boat in still water to that of water current?

A)2:1
B)4:3
C)3:2
D)8:3

56. Read the following information carefully and answer
the question given below.

Eight colleagues—J, K, L, M, N, O, P and Q are sitting around a circular table facing the
center but not necessarily in the same order. Each one of them holds a different post—
Inspector, Accountant, Clerk, Goods guard, Safaiwala, Trackman, Pilot and Fireman.

J sits third to the right of the Fireman, and only two people sit between the Fireman and Q.

The Safaiwala and the Accountant are immediate neighbours. Neither J nor Q is a Safaiwala
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or an Accountant. The Safaiwala is not an immediate neighbour of the Fireman. The Inspector
sits second to the left of N. N is not an immediate neighbour of Q. The Inspector is an
immediate neighbour of both the Trackman and the Pilot. The Pilot sits third to the right of K.
K is not the Safaiwala. L sits to the immediate right of the Clerk. J is not the Clerk. O is not an
immediate neighbour of J. P is not an immediate neighbour of the Inspector.

Who among the following is the Goods guard of the company?

AP

B) N

c)Q

D)J

57. In this question, two statements are given followed
by two conclusions. Choose the conclusion(s) which
best fit(s) logically.

Statements:

1) Some shoes are coats.

2) Some coats are buttons.
Conclusions:

I. No button is shoe.

Il. Some shoes are buttons

A) Only conclusion Il follows

B) Both conclusions | and 1 follow
C) Either conclusion | or Il follows

D) Only conclusion | follows

58. Find the greatest number that will divide 115, 149
and 183 leaving remainders 3, 5, 7 respectively.

A) 18
B) 14
C) 20
D) 16

59. P, Q and R can do some work in 11 days, 20 days
and 55 days respectively. In how many days can the
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work be done, if P gets the assistance of Q and R on
alternate days?

A) 10
B) 8
C)7
D)9

60. For domestic wiring purposes, how are circuits
connected?

A) Series
B) Parallel
C) Serial
D) Straight

61. Is an important metal to form amalgam.

A) Aluminium
B) Iron

C) Mercury
D) Tungsten

62. Which of the following awards were received by
Virat Kohli and Mirabai Chanu in September 20187

A) Arjuna Award

B) Dhyan Chand Award

C) Dronacharya Award

D) Rajiv Gandhi Khel Ratna Award

63. Find the ODD one out from the given options.

A) KN
B) Y
C) LM
D) X
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64. Ram travels a distance of 5 km from a place A
towards north, and then turns left and walks 3 km, again
turns right and walks 2 km. Finally, he turns right and
walks 3 km to reach the place B. What is the distance
between A and B?

A) 2 km
B) 7 km
C) 10 km
D) 13 km

65. In which of the following cities has India's first NBA
basketball school been started?

A) Jaipur
B) Rajkot
C) Pune
D) Mumbai

66. The product of four consecutive numbers is always
divisible by which of the following numbers?

A) 10
B) 22
C) 48
D) 24

67. Which of the following pollutants is the major
contributor to photochemical smog?

A) Nitrogen dioxide
B) Hydroperoxides
C) Peroxynitrates
D) Ozone
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68. If a, 1, b are in arithmetic progression and 1, a, b are
in geometric progression, then a and b are respectively
equate to (where a # b).

A) 2,4
B) -1, 2
C)-2, 4
D) 4, 1

69. Which of the following fatty acids does NOT form
soap?

A) Stearic acid

B) Oleic acid

C) Butyric acid

D) Palmitic acid

70. Complete the series.
Hz, AA, NF, DK, (...)

A) ZC

B) BA

C) SP

D) DF

71. Raju starts walking towards east. After a while, he
turns left and then to his right. Finally, after walking
some distance, he turns left. In which direction is he
moving now?

A) East

B) North
C) West
D) South

72. Which of the following is acidic in nature?

A) All of the options

B) Lemon juice
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C) Tomato
D) Orange

73. Rs.26000 is split into two sums such that the Simple
Interest on one part for 5 years at 10% equals the
Simple Interest on the other part for 6 years at 9%. What
is the sum placed at 10% for 5 years?

A) Rs.15000
B) Rs.12500
C) Rs.14000
D) Rs.13500

74. Is an oil yielding plant.

A) Tomato

B) Mango

C) Potato

D) Groundnut

75. Find the square root of x2/yz + y2/x2 - 2.

A)x-yl2
B)x/y-y/lx
C)xly + y/x
D) x/2y+yl/2x

76. Which planet is called the morning star or evening
star?

A) Mercury
B) Mars

C) Venus
D) Jupiter

77.In the given figure, the circle represents mothers,
Triangle represents women, and square represents
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sisters. which region represents the person who are
mothers and sisters but not women?

A) U
B) Q
C)S
D)T

78. Simplify : 1/4 +1/4 (1/4) ] 1/4 + 1/4 x 1/4

A) 1

B) 1/6
C) 1/4
D) 16

79. What is the colour of base?

A) Pink with phenolphthalein and yellow with methyl orange
B) Yellow with phenolphthalein and pink with methyl orange
C) Yellow with phenolphthalein and blue with methyl orange
D) Blue with phenolphthalein and yellow with methyl orange

80. Nuclear explosives devices were tested in India at-

A) Bengaluru

B) Sriharikota
C) Kanchipuram
D) Pokhran
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81. If 'MISTAKE' is coded as 9765412 and 'NAKED' is
coded as 84123, how is 'ASSIST' coded?

A) 435985

B) 488976

C) 166762

D) 466765

82. Which word will best complete the relationship
given below?

Bricklayer : Trowel :: Tailor : ?

A) Axe

B) Brush
C) Needle
D) Plough

83. P and Q can do awork in 10 days. Q and R can do it
in 12 days. All three together can finish in 8 days. In
how many days can P and R can complete the work?

A) 8 days

B) 10 days
C) 12 days
D) 15 days

84. Which of the following is NOT a cereal?

A) Corn

B) Barley
C) Rye

D) Mustard

85. 'Khandvi' is a delicacy of which state of India?

A) Guijarat

B) Odisha

C) Karnataka
D) Maharashtra
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86. Which of these helps to diagnose a heart problem?

A) ECT
B) ECG
C) EEG
D) BCG

87. x=(7-4V3), then find the value of (x + 1/x).

A) 83
B) 14
C) 33
D) 14+83

88. India ranked in the Start-up Ecosystem
Ranking for 2019.

A) 17
B) 25
C) 23
D) 43

89. Which of the following fractions is a terminating
decimal?

A) 1/3

B) 1/7

C) 5/8

D) 2/11

90. Find the wrong number in the given series.
324, 109, 36, 12,4

A) 109

B) 12

C) 324

D) 4
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91. The area of a circle got increased by 22 cm2when
the radius was increased by 1 cm. What was the original
radius?

A) 7cm
B) 9cm
C)5cm
D) 3cm

92. A rectangular parking space is marked out by
painting three of its sides. If the length of the unpainted
side is 9 ft, and the sum of the lengths of the painted
sides is 37 ft, then what is the area of the parking space
in square feet?

A) 126 ft2
B) 252 ft2
C) 46 ft2
D) 81 ft2

93. In which part of the body is cornea and the retina
found?

A) Nose
B) Eye
C) Ear
D) Palm

94. Find the value of Sin 30°.

A) 172
B) 0

C) 142
D) \3/2

95. The Indian economy can be most appropriately
described as a economy.
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A) Socialist
B) Capitalist
C) Traditional
D) Mixed

96. Which of the following statements about the modern
periodic table is NOT correct?

A) The periodic table is arranged in order of atomic number
B) There are seven periods in the periodic table

C) There are 18 groups in the periodic table

D) Period 1 has only one element

97. Which of the following determines the loudness or
softness of the sound?

A) Oscillation
B) Wave velocity
C) Amplitude
D) Frequency

98. What is the other name for conventional source of
energy?

A) Inexhaustible source of energy
B) Alternative source of energy
C) Renewable source of energy

D) Nonrenewable source of energy

99. In which of the following cities is the Central Rice
Research Institute located?

A) Cuttack

B) Kolkata

C) Hyderabad
D) Delhi
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100. What does friction cause to the screws, ball
bearings and soles of the shoes?

A) Friction avoids all the damages that could be caused to these due to other forces.
B) Friction wears out these materials and damages them

C) Friction protects all these

D) Friction has no effect on these

Answer:-

1. (c), 2.(d), 3. (c), 4. (c), 5. (b), 6. (a), 7. (d), 8. (c), 9. (b),
10. (c)

11. (b), 12. (d), 13. (a), 14. (b), 15. (a), 16. (d), 17. (a), 18.
(b), 19. (d), 20. (d)

21. (d), 22. (b), 23. (d), 24. (c), 25. (b), 26. (a), 27. (b), 28.
(b), 29. (c), 30. (c)

31. (a), 32. (a), 33. (a), 34. (a), 35. (b), 36. (c), 37. (c), 38.
(b), 39. (b), 40. (a)

41. (a), 42. (b), 43. (d), 44. (d), 45. (b), 46. (b), 47. (c), 48.
(b), 49. (b), 50. (a)

51. (d), 52. (d), 53. (b), 54. (c), 55. (d), 56. (d), 57. (c), 58.
(d), 59. (b), 60. (b)

61. (c), 62. (d), 63. (d), 64. (b), 65. (d), 66. (d), 67. (d), 68.
(c), 69. (c), 70. (c)

71. (b), 72. (a), 73. (d), 74. (d), 75. (b), 76. (c), 77. (c), 78.
(d), 79. (a), 80. (d)

81. (d), 82. (c), 83. (d), 84. (d), 85. (a), 86. (b), 87. (b), 88.
(a), 89. (c), 90. (a)

91. (d), 92. (a), 93. (b), 94. (a), 95. (d), 96. (d), 97. (c), 98.
(d), 99. (a), 100. (b)
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